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OZcetZele JtEelXN=g  1,500,000& 23! 3,000
OZcd=Zgd ExY 300,000& 45 +33] 3,600
O&AZ EES MZH 1,000,000& 28 2,000
Ogst 7Y 50,0003 10 500
o=2dxd 2,000
—2JI0IRETAIZN2/AE S =
1,000, 000& =23 2,000
02 =23l 68,200 28,720 39,480
OS=L3 LA 44,200
O4ot=ER=a 100,000& x12& 1,200
O&IIR= 3,500,000 x12& 42,000
OZNERE= 500,000& =23 1,000
OAN&EEHIS XY 24,000
OsZJIEE==2 150,000& *123] 1,800
(OFSIIRCIFSEL Jel§ == )= 500, 000& *123| 6,000
Oxgt¥dPx=2 300, 000& *123| 3,600
ORZHANAEEAZ 500,000& «12& 6,000
OEE&IZ2XN2AIIEAE 50,000& 123 600
OANESS AL EH =&t 500,000 «12& 6,000
206 M=l 5,300 0 5,300
ER] 5,300 0 5,300
ogsnHz7Y 2,000,000 * 14! 2,000
OR=83sas 3,300,000 14 3,300
405 KHAHFESHI 3,700 37,000 A 33,300
01 HARESF=H 3,700 37,000 233,300
OLII0FR= A2 HIS 3,700
Ostola a1 200,000& *2H 400
OS2 &2 500, 000& 24 1,000
Ostila &+ 200, 0003 204 400
Ol &R 72 200, 0003 44 800
OmAIIFY 600,000 *1CH 600
OtXgatnet—¢ 500,000 *1CH 500
PSS A2 AE 124,879 800,000 A675,121
401 A EHIL 204 124,879 800,000 A675,121
01 Al&HI 50,000 795,000 A745,000
O==+7gl 50,000
03 AIZ 204l 74,879 5,000 69,879
OR="YEotl 1,500,000& *23] 3,000
ORSHAZ HEISA JAATNREES 71,879
SfsEx A 18,710 100,000 A81,290
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fA: St
ZH: 23
&2l AII0IRSEAZ 2 (9 E2
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- = Tl (2 ° . (= (=3 =5 0:”/|l|,% Lsa
101 14| 15,710 0 15,710
04 JI2ZtMZ22XSE+ 15,710 0 15,710
OsstslEZZM=2Y 34,9102 »3H 150 15,710
206 M=l 3,000 0 3,000
01 M=H| 3,000 0 3,000
on=&EHE M+ 3,000
HE 2L ZHI 111,520 132,025 A 20,505
Jl2ddl (23221 111,520 132,025 A20,505
HEFXZHI 4,200 4,200 0
203 HERF&| 4,200 4,200 0
04 EA2ISRFEHI 4,200 4,200 0
ORMZIHRFZAI 350,000 x12& 4,200
2 Et2 FH| 31,000 32,000 A 1,000
201 LBt A Y| 31,000 31,000 0
01 AtE222|H] 30,600 30,600 0
O t=ZH| 15,600
o=l 15,000
02 23234l 400 400 0
o033z ¥ 400
(021 76,320 95,825 A 19,505
202 (4 H| 76,320 95,825 A 19,505
01 =LA bI 76,320 95,825 A 19,505
OJl=gf+d 200,000& *24H « 123 57,600
O=UWH=E0HHI 65,000& x24H x12& 18,720
HREs (23221 105,000 0 105,000
BAIE (22 ) 105,000 0 105,000
IUMSHHAYE 84 105,000 0 105,000
311 XM= 0IAt&E 105,000 0 105,000
02 Al -2 - XS 2 30| K&k &t 105,000 0 105,000
O=BXNsHHAY Sk= Ol Ataf e
3,000,000, 000 *3.5% 105,000
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